Directional Valves electro-hydraulically operated (new series)



Directional valves
BEIJING HUADE

HYDRAULIC INDUSTRIAL
GROUP CO.,LTD. Size 10t0 32| upto 35 MPa | up to 1100 L/min

electro-hydraulically operated (new series) RE 24751/12.2004

Features:
- Valves used to control the start, stop and direction of a fluid flow
- Electro-hydraulic operation (WEH), hydraulic operation (WH)
- For subplate mounting
- Spring or pressure-centred,spring or hydraulic offset
- Wet-pin DC or AC solenoids, optional
- Manual override, optional
- Electrical connection as individual or central connection
- Shifting time adjustment, optional
- Pre-load valve in the P-channel of the main valve, optional
- Auxiliary equipment:
- Stroke adjustment at main spool, optional
- Stroke adjustment and/or end position indicator, optional
- Mechanical or inductive limit switch (proximity type) at the main spool, optional
- Porting pattern to Din 24 340 form A, ISO 4401 and CETOP-RP 121H

Huade América 2



Pilot oil supply

4WEH - - -and 4WH - - -

The pilot oil supply is sourced externally via channel X from a
separate circuit.

The pilot oil drain is led externally via channel Y to tank.

The pilot oil supply is sourced internally from channel P of the main
valve.

The pilot oil drain is led externally via channel Y to tank. Port X in the
subplate is plugged.

Change over from external to internal or from internal to external pilot
oil supply (size 16): Remove the cover on the solenoid side "a",
remove the plugs and turn end-for-end, insert plugs and re-place the
cover.

4WEH - - -ET- - -

The pilot oil supply is sourced internally from channel P of the main
valve.

The pilot oil drain is led internally via channel T to tank. Ports X and
Y in the supblate are plugged.

The pilot oil supply is sourced externally via channel X from a
separate circuit. The pilot oil drain is led internally via channel T to
tank. Port Y in the subplate is plugged.

1 Plug screw M6-8.8 - pilot oil drain

2 Plug screws M6-8.8 - pilot oil supply

3 Plug screws M8-8.8 - for external sealing

Tightening torques M , for cover fixing screws:

Size 16: 35 Nm

Size 25: 68 Nm

Tightening torque M , for pilot valve fixing screws:

Sizes 10 to 32: 9 Nm

Throttle insert

The use of a throttle insert is required if the pilot oil supply in the P
channel of the pilot valve is to be limited (see page 188) .

This throttle is inserted in the P channel of the pilot valve.

Pilot valve

main valve
Size 10 P 1 main valve
XN
i
S
7N
r
Pilot oil supply Pilot oil drain

external: 2 plugged external: 1 plugged

internal: 2 open internal: 1 open

Huade América

Size 16
. ¥
® INJO
rP . X | [ i
1
% 7N
(=== <
? 7 Cover B
Pilot oil supply
external: 2 plugged
internal: 2 open
Pilot oil drain
. .
main valve external: 1 plugged
internal: 1 open
Size 25

Pilot valve

Cover

main valve

Pilot oil drain

Pilot oil supply

external: 2 plugged external: 1 plugged

internal: 2 open internal: 1 open

Size 32
Pilot valve 17 -
R
|
N
P 1
7 T
Pilot oil supply Pilot oil drain

external: 2 plugged external: 1 plugged

internal: 2 open internal: 1 open




Functional,section

. TN T e
5.2 4 () 2.1
T AT P
I
'\_},f' i
I A
.’FE-"'
= o
62 )
N J11 b1 [
- I Y q B .
L/ A ¢ pY
W,
(%) ?J LA et 7 o (8
B LS S V. -

Type 4WEH 16 ...

Directional valves type 4WEH...

Valves of type WEH are directional spool valves with electro-
hydraulic operation.

They control the start, stop and direction of a fluid flow.
The directional valves basically consist of the main valve with
housing (1), main control spool (2), one or two retum springs
(3.1) and (3.2), and the pilot valve (4) with one or two
solenoids "a" (5.1) and/or "b" (5.2).

The main control spool (2) in the main valve is held in the
neutral or in the initial position either by the springs or by
means of pressure.

In the initial position, the two spring chambers (6) and (8) are
connected to the tank without pressure via the pilot valve (4).
The pilot valve is supplied with pilot fluid via the pilot line. The
pilot oil supply can be either intemnal or extemal (external via
port X).

When the pilot valve is operated, e.g. solenoid "a", the pilot
spool (10) is shifted to the left and thus spring chamber (8) is
pressurized with pilot pressure. Spring chamber (6) remains
un-pressurized.

The pilot pressure acts on the left side of the main control
spool (2) and pushes it against the spring (3.1). As a
consequence, the ports P to B and A to T are connected in
the main valve.

When the solenoid is de-energized, the pilot spool retuns to
its initial position (exception: detented spool). The spring
chamber (8) is unloaded to tank.

The pilot oil is expelled from the spring chamber via the pilot
valve into the Y channel.

The pilot oil supply and drain are internal or external (external
via port Y).

An optional manual override (9) permits pilot spool (10) to be
operated without energizing the solenoid.

Directional valves type 4WH...

Valves of type WH are directional spool valves with hydraulic
operation.

They control the start, stop and direction of a fluid flow.
The directional valves basically consist of the valve housing
(1), the main control spool (2), one or two return springs (3.
1) and (3.2) in the case of valves with spring return or spring
centring, and the pilot connecting plate (11).

The control spool (2) is operated directly by means hydraulic
pressure.

The control spool (2) is held in the neutral or in the initial
position either by springs or by means of pressure. Pilot oil
supply and pilot oil drain are external (see page 2).
4/3-way directional valve with spring centring of the
control spool

In this model, the main control spool (2) is held in the neutral
position by two return springs (3.1) and (3.2). The two spring
chambers (6) and (8) are connected to ports X and Y via the
connector plate (11).

When one of the two ends of the main control spool (2) is
pressurized with pilot pressure, the spool is moved to the
shifted position. The required ports in the valve are then
opened to flow.

When the pilot pressure is removed, the spring on the
opposite side to the pressurized spool area causes the spool
to return to its neutral or initial position.

Huade América 4



Functional,section

()

@\:/

Type 4WEH 16 H...

4/3-way directional valve with pressure centring of
the main control spool, type 4WEH---H

The main control spool (2) in the main valve is held in
the neutral position by pressurization of the two front
faces. A centring sleeve (12) is supported in the hous-
ing and holds the spool in position.

By removing the pressure from one of the spool ends,
the main control spool (2) is moved to the shifted
position.

The unloaded spool area displaces the returning pilot
oil via the pilot valve into the Y channel (external).

Huade América 5



Shifting time adjustment, pressure reducing valve, pre-load valve

Shifting time adjustment
In order to influence the shifting time of the main valve
(1) a double throttle check valve(12) is installed.
Change over from meter-in (13) to meter-out control
(14):Remove the pilot valve 4(leave the O-ring support
plate (15) in place), rotate the throttle check valve (12)
about its longitudinal axis and refit it, replace the pilot
valve (4).

Tightening torque for screws (16)
M, =9Nm.

Pressure reducing valve "D3"

The pressure reducing valve (17) must be used if the
pilot pressure is higher than 25 MPa.Thus, the second-
ary pressure is held constant at 4.5 MPa.When using a
pressure reducing valve "D3" (17), a throttle insert
"B10" must be installed in the P channel of the pilot
valve.

Tightening torque for screws (16) M , =9 Nm.

Type 4WEH..60/.../..D3

Pre-load valve (not for size 10)

In valves with pressureless by-pass and iternal pilot oil
supply, a pre-load valve (18) must be installed in the P
channel of the main valve to build up the minimum pilot
pressure.

The pressure difference of the pre-load valve must be
added to the pressure difference of the main valve (see
characteristic curve) in order to determine the actual
value.
The cracking pressure of this valve is approx. 0.45
MPa.

/\p/qv characteristic curve (measured atv =41 mm? /s and t = 50°C)

1.4
L 8 llg 2 3

Main valve E L2 /

'é 1.0 ;

§ 0.8 :

£ 06 - =
Subplate 5 g P e

g 0.4

(2]

e 0.2

S

0 100 200 300 400 500 600 700

Flow in L/min

1 Size 16
2 Size 25
3 Size 32.

Huade América 6



Ordering code

4 B *
pressure of operation Further details in clear text
Up to 28 MPa = No code
Up to 35 MPa =H- No code = mineral oils
V = phospate ester
4-way design =4
No code = Without pressure reducing valve
Types of operation D3 2 = With pressure reducing valve
Electro-hydraulic = WEH
Hydraulic =WH
Pre-load valve (not for size 10)
No code = Without pre-load valve
Size
P45 = With pre-load valve
Size 10 =10
Size 16 =16
Size 25 =925 No code = Without throttle insert
Size 32 =32 B08 = Throttle ® 0.8 mm
B10 = Throttle ®© 1.0 mm
Spool return B12 = Throttle ® 1.2 mm
By means of springs = No code B15 = Throttle ® 1.5 mm
Hydraulic =H

Additional equipment NO. (see Additional equipment )

For symbols,see page 189

Electrical connections

Series 40 to 49 (size 10) " =40
K44 = with component plug
Series 60 to 69 (sizes16.25.32) =60
Technology of Beijing Huade Hydraulic =B No code = Without shifting time adjustment
S = Shifting time adjustment as meter-in control
Spool return in the pilot valve for 2-position valve and 2 S2 = Shifting time adjustment as meter-out control
solenoids only possible with spools C, D, K, Zand
hydraulic spool return in the main valve:
Without spring return =0 No code= Pilot oil supply external, drain external
Without spring return with detent =OF E= Pilot oil supply internal, drain external
ET 3= Pilot oil supply internal, drain internal
Pilot valve with wet-pin solenoids T= Pilot oil supply external, drain internal
Standard valve =A Type 4WH...only available as No code!
High-performance valve =E Versions ET and T as 3-position valve with pressure
centring only possible if Pior = 2X Pt Pyiot min !
12VvDC =G12
220 V AC 50 Hz =W220-50
24V DC =G24 No code= Without manual override
DC solinoid commuting automatically =W220R N= With manual override
N9= With protected manual override
1) Unchanged installation and connection dimensions
2) Only in conjuction with throttle insert "B10" In order to avoid excessive pressure peaks, a throttle insert
3) With internal pilot oil supply: (B10) should be provided in the P port of the pilot valve .
Minimum pilot pressure: Please note page 192! 4) Plug-in onnectors have to be ordered separately

Huade América




Symbols

a.k].y vl o xpdalolb] b. y v/
uh.y H../ § EIH b. x H../
L] 4 B

_ub 0 o PDT b b
A L 1)
WEH ub SH n A

A}
n:ln::n ..H../0 n:n .B
.

WEH ’
ll:ﬂ[l‘l .-H../0F 0 ofolb b H../..
- FT
T T T AB
AHIHIH! Al e oo [y HA../
T L7l LT I B hE
XITT:TT:T ! >{ =D nﬂili HB../
RSN >< _ - P
X!A.‘T - <
F RS -
Xl_c:_d ! X =z
A8
WH |:u.x FT by /- i e TT .
43 T il 1 Tl 1 -
oL b b6 B @ T .
WEH[ $ e L1114

oL o
AHE:

i

X;J_ B O B ‘ |>< ‘ —v
| I I I -
ST TIT TIT T!

T
I

i

i

T
i
:

T

i

i

i

A A

X A

X H A
X i [XTHIH] -

T ITT T
>< A T 'r) J J >< T |
XA DXE -
B A -
>< i-ﬁJ—iE{:—)(ii J(il | >< F{ -0
XX TAH] [XEIE] -
XOEnE XEH ~
1) Example: Spool E, solenoid on side "a" E-Ly (lHET\L\LEX H X =7
Order example: ><i il >< + iy
H-4WEH 16 HEA60/6AG24N9ETSK4..B10..V.. —— ":T :J : e

| e s tin SRV IR
2) Spool S only for size 16 XIT\_‘J-T :tii}‘il r >< 11n|<__:- | w

Huade América 8



Valve opening in neutral position for spools Q, Vand W

Size Valve opening in neutral position ( in mm?)
10 16 25 32
Spool (type 4W.H 25.60B/...)
P-A - - - -
aQ P-B - - - -
AT 13 32 83 78
B-T 13 32 83 78
P-A 13 32 83 73
v P-B 13 32 83 73
A-T 13 32 83 84
B-T 13 32 83 84
P-A - - - -
W P-B - - - -
AT 2.4 14 20
B-T 2.4 14 20

Detailed and simplified symbols for 3-position valves

Valve with spring-centred neutral position

Valve with pressure-centred neutral position
only sizes 16, 25 (type 4W.H 25 .60/...

and 32)

B

% ]

| |
| .ﬂz:% o !
T F T

external

external; Y

X

Type 4WEH../..

Type 4WEH..H../..

y B
a|o|b

°
-

external

i

Type 4WEH..H../..E..

< T

T A 8

2 nnn Type 4WEH../..ET.. | 3-position valves, pressure-centred, preferrably with
N —_ | external pilot oil supply and/or drain (No code, E)

© IDH_ = 1 E E |; ; ] |H¢_" For the preconditions for internal pilot oil supply and/or
2 et I B ¥ | drain (ET, T) see page 188 or 192.

£ ﬁ- _

x

g

£ ﬂIIII:I “ Type 4WEH../..T..

> m—

ﬁ’ —

] | | i,

x |— ——

v — %

Huade América 9




Detailed and simplified symbols for 2-position valves

Valves with spring offset Valves with hydraulic offset
Type 4WEH.. /... Type 4WEH..H.../... Type 4WEH..H/O... Type4dWEH..H/OF...
_ A B 4 B Al h B
5 — _ — —
g u.b-r u.—1—|b-5r n-—1—|h-y u.—1—|b-r
" | I I C_—_ 1
o 1 1_ 1 T
O I o )1 1 B B U024 S B P22 41 T B P <41 S O
Q
: T
1]
x
g
3
1
>
.
3
£
1]
x
T A B
c
g
S B,
1]
z
©
£ A Al o
c |  tmmmmmAbk-————y | pe———md k—————y | pmmmmm -
£ 1L
U P XY T
AL (B AL (B Al (B
Pt P P
Type 4AWEH..H/..T... Type 4WEH..H/O...T... Type 4WEH..H/OF...T...
g
8
£
1]
>
.
I
3
1]
x

Huade América 10




Technical data (For applications outside these parameters, please consult us!)

Sizes (ordering code) 10 16 25 32
Operating pressure, max. Type 4WEH (MPa) 28 28 28 28
-PortP, A, B Type H-4WEH (MPa) 35 35 35 35
-Port T Pilot oil drain Y external (MPa) 31.59 25 25 25
Pilot oil drain Y internal® 169/21" DC
109/16” AC
- PortY -DC (MPa) 169/21" DC
Pilot oil drain external: - AC (MPa) 109/16" AC
with version 4WH (MPa) 25
Pilot pressure, max. (MPa) 5
(With higher pilot pressures, a pressure reducing valve is required.)
Pilot pressure, min.
- Pilot oil supply X external, pilot oil supply X internal H-4W....
(not with spools: C, F, G, H,P, T, V, Z, S )
3-position valve, spring-centred (MPa) 1.0 1.4 1.3 0.85
3-position valve, pressure-centred  (MPa) - 1.4 1.8 0.85
2-position valve, with spring offset ~ (MPa) 1.0 14 1.3 1.0
2-position valve, with hydraulic offset (MPa) 0.7 1.4 0.8 0.5
- pilot oil supply X internal
(with spools C, F, G, H, P, T, V, Z, S ) (MPa) 4.5 4.5% 4.5% 4.5%

1) As 3-position valve with spring-centring only possible if p ot =
2x P T P piot min -

2) Spool S only for size 16

3) Forsymbols C, F, G, H, P, T, V, Z internal pilot oil supply is only
possible, if the flow from P to T in the neutral position (in a 3-
position valve) or when the valve is moving through the neutral

position (in a 2-position valve) is large enough to ensure a

minimum pressure difference of 0.65 MPa from P to T.

4) ForspoolsC,F,G,H,P,T,V,Z, S (by means of a pre-load valve
or a sufficiently large flow)

5) Type 4WEH 10...: 28 MPa
Type H-4WEH 10...: 31.5 MPa

6) Standard valve "6A"

7) High-performance valve "6E"

Hydraulic fluid

Mineral oil (for NBR seal) or Phospate ester (for FPM seal)

Fluid temperature range (‘Cc) -30to+ 80
Viscosity range (mm?/s) 2.8 to 500

Maximum permissible degree of contamination of the hydraulic fluid
Cleanliness to NAS 1638 class 9. We therefore recommend a filter with a

minimum retention rate of g ,, > 75.

Pilot oil volume for shifting operation :

- 3-position valve, spring-centred (cmd)

2.04 5.72 14.2 29.4

- 2-position valve (cm?®)

4.08 11.75 28.4 58.8

- 3-position valve, pressure-centred

WH WEH | WH WEH WH WEH

From neutral position to shifted position "a" (cmd) 283 | 283 |7.15 7.15 14.4 14.4
From shifted position "a" to neutral position (cmd) 2.9 573 [14.18 | 7.0 294 15.1
From neutral position to shifted position "b" (cm?®) 572 | 573 | 1418 | 14.15 294 294
From shifted position "b" to neutral position (cm?) 2.83 | 855 |19.88 | 5.73 43.8 14.4
Pilot oil flow for shortest shifting time (L/min) approx.35 approx.35 approx.35 approx.45.0
Valve with one solenoid (kg) approx.6.4 approx.8.5 approx.17.6 approx.41.0
Valve with two solenoids, spring-centred (kg) approx.6.8 approx.8.9 approx.18.0 approx.41.0
% Valve with two solenoids, pressure-centred (kg) approx.6.8 approx.8.9 approx.19.0 approx.41.0
'2 Valve with hydraulic operation (4WH...) (kg) approx.5.5 approx.7.3 approx.16.5 approx.39.5
Shifting time adjustment (kg) approx.0.8
Pressure reducing valve (kg) approx.0.4

Installation position

Huade América

optional; valve with hydraulic spool return "H"(spools C, D, K, Z, Y) horizontal




Shifting times

Shifting time = Contacting at the pilot valve up to start of opening of the control land in the main valve

Shifting time of the valve from neutral position to shifted position with AC (~) and DC (=) operation

< at pilot pressure (MPa) ~7= ~14= ~21= ~25=
% - 3-position valve (ms) 30 65 25 60 20 55 15 50
% % - 2-position valve (ms) 35 80 30 75 25 70 20 65
'C% % Shifting time of the valve from shifted position to neutral position
§ - 3-position valve (ms) 30
* - 2-position valve (ms) 35 40 30 75 25 30 20 25
Shifting time of the valve from neutral position to shifted position with AC (~) and DC (=) operation
at pilot pressure (MPa) ~7= ~14= ~21= ~25=
- 3-position valve, spring-centred (ms) 25...30 40 25...30 40 | 25...30 40 20...25| 40
- 2-position valve (ms) 30...35 55 | 30..35 55 |30...35 55 25..30| 50
- 3-position valve Solenoid operated a|bla|b|la|b|la|b|ja|bla|b|a|b|a]|b
pressure-centred (ms) 30| 30|40 |40 | 30|30 (40|40|30|30(35|40|30|30 35|40

Shifting time of the valve from shifted position to neutral position

Size 16
Pilot valve series 60/ E

- 3-position valve (ms) 20 to 35 for ~, 30 for =
- 2-position valve (ms) 35...50 45 |35.50| 45 |30..45 40 30..45| 35
- 3-position valve from - a|bla|b|la|bla|b|la|bla|bla|b|al|b
pressure-centred (ms) 20...35 20 20...35 20 |20..35 20 20...35 20
Shifting time of the valve from neutral position to shifted position with AC (~) and DC (=) operation
at pilot pressure (MPa) ~7= ~14= ~21= ~25=
- 3-position valve, spring-centred (ms) 50 85 40 75 35 70 30 65
- 2-position valve (ms) 120 160 100 130 85 120 70 105
° g - 3-position valve Solenoid operated a|b|a|b|a|blal|b |a |b|a]|b]a |[b |a |b
?N.) u;) pressure-centred (ms) 30 |35 |55(65 |30 |35 (55 65|25 |30 |50 |60 |25 (30 |50 |60
@ %_. Shifting time of the valve from shifted position to neutral position
N - 3-position valve (ms) 40 to 55 for ~. 40 for =
- 2-position valve (ms) 120 125 85 100 85 90 75 80
- 3-position valve from - a|lb|a|b|la|bla|b |a |b |a|b]a |[b|a|b
pressure-centred (ms) 30...50 |30 |35 | 30...50 |30 |50 | 30...50 | 3035 | 30...50 |30 |35
Shifting time of the valve from neutral position to shifted position with AC (~) and DC (=) operation
at pilot pressure (MPa) ~5= ~15= ~25=
- 3-position valve, spring-centred (ms) 65 80 50 90 35 105
< - 2-position valve (ms) 100 130 75 100 60 115
UB, - 3-position valve Solenoid operated al| b a b a b a b a b a b
> -g pressure-centred (ms) 55160 |100| 105| 40 | 45 | 85| 95 |35 | 40 | 85 | 95
% § Shifting time of the valve from shifted position to neutral position
g - 3-position valve (ms) 60 to 75 for ~, 50 for =
= - 2-position valve (ms) 115...130 90 85...100 70 65...80 65
- 3-position valve from - al| b a b a b a b a b a b
pressure-centred (ms) 30...65 30 |40 60...90 30|30 |105..155 | 50 | 50

Huade América




Characteristic curves: Type 4WEH 10...(measured at v =41 mm?/s and t = 50°C )

A plq,, characteristic curves

1.1
1.0 A

// A6 | A5 4
©
3
CEL 0.8 / / —~ //,‘g
© / |
S L /A/// ///
£ / /
o / / % —
2 .
: 0.2 / féé
0 40 80 120 160
Flow in L/min
Shifted position Neutral position
Spool Spool
P-A PB | AT B-T AT | BT P-T
E,D,Y2 2 4 5 . 3 ) 5
F 1 4 1 4
GT 4 2 2 6 GT - - 7
H,C 4 4 1 4
JK 1 2 1 3 H ! 3 5
L 2 3 1 4 L 3 T
M 4 4 3 4 - 7 5
QVv.w,z 2 2 3 5
R 2 2 3 - U - 4 }
U 3 3 3 4
P 4 1 3 4

Shifting performance limits: Type 4WEH 10...(measured at v=41 mm?/sand t = 50C )

General:
2 and 3-position valves (Permissible flow q,, in L/min) Attention!
Operating pressure p . in MPa The shifting performance limits shown are valid for applications with
Spool two directions of flow (e.g. from P to A and simultaneous return flow
20 | 25 315
fromBto T).
E.J LM QR U 160 As a result of the flow forces occurring within the valve with only one
V.W o C D K ZY direction of flow (e.g. from P to A with port B blocked) the permissible
H 160 150 120 performance limits may be considerably lower!
G T 160 160 140 (In the case of applications of this kind, please consult us.)
Fop 160 140 120 The performance limits were determined with the solenoid at

operating temperature, 10% undervoltage and with no tank

pre-loading.

Huade América




Characteristic curves: Type 4WEH 16...(measured at v =41 mm?/s and t =50°C )

A plq,-characteristic curves-Spool E

14 6 5 T
g 1.2 / / / 3
< 1.0 J S 4
§ 0.8 / // o 1
: awy 1
g 06 — _ =
° 0.4 —
? 0.2 —
3 _ ——
x 0 50 100 150 200 250 300
Flow in L/min
Spool Shift position
P-A| PB| AT | BT | PT

E,D,Y T 1 11 3 1

F,P 2 2 3 3 )

Heavz | 2 | 2| 3 | 3 | -

JK,L ) 11 3| 3 ]

MW 2 2 4 3 -

R 2 2 | 4 - .

v 1 1| 4 | 7 ]

Performance limits: Type 4WEH 16...(measured at v=41 mm?/s and t = 50°C )

2-position valves Permissible flow q , in L/min Pre-load 3-position valves Permissible flow q ,, in L/min Pre-load
Operating pressure p __in MPa valve, Operating pressure p __ in MPa valve,
Spool ; Spool ;
BEEERERE: required 7 | 14|21 [ 28| 3 required
for for
with spring offset in the main valve" X = spring-centred X =
C.D.K Z Y | 300 | 300 | 300 | 300 | 300 | internal E.H J L M internal
with spring offset in the main valve? QUWR 300 300 300 300 300 Spools
c 300 | 300 | 300 | 300 | 300 |[SPOIC| g p 300 | 250 | 180 | 170 | 150 |F,G,H,
D.Y 300 | 270 | 260 | 250 | 230 [@dZup G. T 300 | 300 | 240 | 210 | 190 |PandS
K 300 | 250 | 240 | 230 | 210 [©@POX| g 300 | 300 | 300 | 250 | 220 in
z 300 | 260 | 190 | 180 | 160 |16OLmIn 1y 300 | 250 | 210 | 200 | 180 |general
with hydraulic offset in the main valve Spool HC pressure-centred (at min. pilot pressure of 1.6 MPa) Spool V
and HZ up up to ca.
HC. HD. HK [300 | 300 | 300 | 300 | 300 t for all spools | 300 | 300 | 300 | 300 | 300|160 L/min
O approx.
HZ. HY 300 | 300 | 300 | 300 | 300 |160L/min
Attention!
When using 4/3-way directional valves with spring-centring of
the control spool in the main valve, which exceeds the given
1) The flow values given are achieved when the mini-  performance limits, a higher pilot pressure is required.
mum pilot pressure of 1.2 MPa is present. Example: Atan operating pressure of p,_ =35MPaand aflow
2) The flow values given are limiting values at which the of q,, =300 L/min, a pilot pressure of 1.6 MPa is required.
return spring can return the valve when the pilot pres-  The maximum flow for those valves is therefore only depen-
sure fails. denton the A\ p value which is acceptable for the system.

Huade América




Characteristic curves: Type 4WEH 25...(measured at v =41 mm?s and t = 50°C )

§ 7 6 5
® 1 4 e 1 7)Spool G central position P-T
B4 / rapyd ‘ 8) Spool T central position P-T

'g ﬂ spool { y 4 //’////‘ e a

g g //,/ A

£ 6 /jfé’y’;f :/f:’/

©

S 4 ;,f-‘/’ é%/ﬁ‘

%)

g oz

o

) 100 200 300 400 300 600 650
Flow in L/min
Shifted position Neutral position

Spool TP AT T PB AT B-T | Spool P-A PB | AT BT
E 1 1 1 3 P 4 1 1 5
F 1 4 3 3 Q 2 2 3 5
G 3 1 2 4 R 2 1 1 -
H 4 4 3 4 U 2 1 1 6
J 2 2 3 5 V 4 4 3 6
L 2 2 3 3 W 1 1 1 3
M 4 4 1 4 T 3 1 2 4

Performance limits: Type 4WEH 25...(measured at v =41 mm?s and t=50C)

2-position valves Permissible flow q , in L/min Pre-load 3-position valves Permissible flow g , in L/min Pre-load
Operating pressure A p in MPa valve, Operating pressure A p in MPa valve,
Spool required Spool required
7 | 14 | 21 | 28 | 35 for X = 7 | 14 | 21 | 28 | 35 | forx=
with spring offset in the main valve" internal spring-centred internal
C.DKZY 700 | 700 | 700 | 700 | 650 E. L M,
: | | | | | Spool © 700 | 700 | 700 | 700 | 650
with spring offset in the main valve? and Z up Q U w
C 700 | 700 | 700 | 700 | 700 to G T 400 | 400 | 400 | 400 | 400
D.Y 700 | 650 | 400 | 350 | 300 | approx. F 650 | 550 | 430 | 330 | 300 Soool
pools
K 700 | 650 | 420 | 370 | 320 | 180 H 700 | 650 | 550 | 400 | 360 G H
z 700 | 700 | 650 | 480 | 400 | L/min J 700 | 700 | 650 | 600 | 520 P’ d T
an
with hydraulic offset in the main valve P 650 550 | 430 330 300 .
in
HC. HD. HK 700 700 700 700 700 \Y 650 | 550 | 400 | 350 | 310 |
general,
HZ HY 700 | 700 | 700 | 700 | 700 R 700 | 700 | 700 | 650 | 580
Spool spool V
HC.../O 700 700 700 700 700 pressure-centred (at min. pilot pressure of 1.8MPa)
HC and up to
HD.../O 700 | 700 | 700 | 700 | 700 | .~ E.F.H J |700 | 700 | 700 | 700 | 650
up approx.
HK.../O 700 | 700 | 700 | 700 | 700 to L. M P _Q |700 | 700 | 700 | 700 | 650 180
HZ.../O 700 | 700 | 700 | 700 | 700 | approx. R. U V. W]|700 | 700 | 700 | 700 | 650 Lmi
min
HC.../OF 700 | 700 | 700 | 700 | 700 180 G T 700 | 700 | 700 | 700 | 400
HD.../OF 700 700 700 700 700 L/min at > 3MPa pilot pressure
HK.../OF 700 | 700 | 700 | 700 | 700 G. T | 700 | 700 | 700 | 700 | 700
HZ.../OF 700 | 700 | 700 | 700 | 700

1) The flow values given are achieved when the minimum pilot pressure of 1.3 MPa is present.
2) The flow values given are limiting values at which the return spring can return the valve when the pilot pressure fails.

Huade América




Characteristic curves: Type WEH 32...(measured at v =41 mm?/s and t = 50°C )

A plq, characteristic curves - A plq,, characteristic curves -
spool E, Rand W spool Gand T
© ©
o o
1.8 1.8

Z 1% [ [ 4 =1 [ 14
=y B4 |/ =14 BL /] A
o 1.4 o .
o \}" 1 o 1.9 v 1/
GC) 1.2 ﬁ—-'I'E:' / GC) .1 1[} F‘T\_
g H ~7V E s o )
S - 1 | A7 | A S A2 @ E
o ez 2 0 N 7R

. I =1 P ' = -_
% 0.2 g”{:/ff/ E"ﬂ—' % 0.2 = = St Ee
o | _— & e ]
e 0 120 240 360 480 600 720 840 H601060 S0 " 120 240 360 480 600 720 840 9601080

Flow in L/min Flow in L/min

IS A p/q,, characteristic curves - all other spools
=
q% 11 ) 1) only with spool R
S 12 / all other 2) not with spool R
g 1.0 // | spools
o) 0.6 ./f ]
S 0.4 e
g 0.2 e
o 0 120 240 360 480 600 720 840 360 1080

Flow in L/min

Performance limits: Type WEH 32...(measured atv =41 mm?/s and t = 50C )

2-position valves Permissible flow q , in L/min Pre-load 3-position valves Permissible flow q , in L/min Pre-load
Operating pressure p, . in MPa valve, Operating pressure p__ in MPa gvalve,
Spool required Spool required
BREEREIE e 7 [ 14 | 21 | 28 | 35 [ox-
with spring offset in the main valve " internal spring-centred" internal
C.D. K. Z Y|1100 1040 | 860 | 750 | 680 E. J. L. M,
spool Cin 1100 | 1040 | 860 | 750 | 680 | SPOols
with spring offset in the main valve ? Q U W R F,G,HP
general, 2
c 1100 | 1040 | 860 | 800 | 700 | spoolZ G.T.H F.P|900 | 900 | 800 | 650 | 450 |andTin
upto general,
D. Y 1100 | 1040 | 540 | 480 | 420 \Y 1100 | 1000 | 680 | 500 | 450
approx. spool V
K 1100 | 1040 | 860 | 500 | 450 |[480L/min pressure-centred (at min. pilot pressure of 0.85MPa) |up to 180
L/min
z 1100 | 1040 | 860 | 700 | 650 for all spools |1100 | 1040 | 860 | 750 | 680
with hydraulic offset in the main valve sggr?:egli,n Attention!
HC. HD. HK |1100 | 1040 | 860 | 750 | 680 fopc;c;lpzr&p When using 4/3-way directional valves with spring-centring
HZ. HY 1100 | 1040 | 860 | 750 | 680 |[180L/min of the control spool in the main valve, which exceeds the
given performance limits, a higher pilot pressure is
required.
Example: At an operating pressure of p max = 35 MPa
1) The flow values given are achieved when the and a flow of q,= 1100 L/min, a pilot pressure of 1.5 MPa
minimum pilot pressure of 1MPa is present. is required.
2) The flow values given are limiting values at which The maximum flow for those valves is therefore only
the return spring can return the valve when the pilot dependent on the A p value which is acceptable for the
pressure Spools. system.

Huade América




Unit dimensions: Type 4WEH 10... (Dimensions in mm)

131,

83

20| 40

B6

L

! rn

=™
Subplate
G 534/01 (G 3/4"), —— without port X, Y
G 535/01 (G 3/4 ), > with port X, Y
G 536/01 (G 17)
Valve fixing screws 4- M6 x 45-10.9 71 0.01/100mm
(GB/T70.1-2000) 0.8

M, = 15.5 Nm

must be ordered separately. J/?/;’/{///////i

For items lists see page 202 Required surface finish of

the mating piece

Huade América 17




Unit dimensions: Type 4WEH 16... (Dimensions in mm)

.

205.4 ) 44
_o-/. —_—
/ - B

g2

Al

i T HH il
it | - oo | 1] !
I il B il il |
. 1055 g3/
211 ™
e D)
O =" —1

o 0
(9)

" %18
341 /w66 /Al <
/_ _______ _'l_'
&G — e
5,1 S R e
g SRS g g B Y
@3%@@ R IR o S il
=1 RS
50| o el
T 142

Subplates

G 172/01 (G 3/4"), G 172/02 (M27 x 2),

G 174/01 (G 17), G 174/02 (M33 x 2), G 174/08 (flange)
Valve fixing screws

4 -M10x 60-10.9 (GB/T70.1-2000)

M, =75 Nm £710.01/100mm
2- M6 x 60-10.9 (GB/T70.1-2000) Vi

M, =15.5Nm Z. 7 / %
must be ordered separately. 4///'//// /4
For items list, see page202 Required surface finish of

the mating piece

Huade América 18




Unit dimensions: Type 4WEH 25... (Dimensions in mm)

19

o
o8
BE(/4)

:E'j' Sh
7) 4 -~
C\_/\.‘\z i -
(8 1K =
= =
Rill
Sl
O E

dimension of ports connective flate is the
() same as style:WEH25...50/

N
- @20
s 2 N4 +
ke d A | i
T — le =] F i T_’_ |:|"_ Y‘I‘ _
:_____ o ~| __+_£_u%+_ };-- - %: -+ o
L. e isl—t1 g o B T
@ KA lf!:?_j}'h_ﬂmf I + 4
77 I
130 T 199
Subplates
G 151/01 (G 17),
G 153/01 (G 17), for valves with pressure-centred neutral position
G 154/01 (G 1 1/4"), G 154/08 (flange)
G 156/01 (G 1 1/27) —
SI10.01/100mm

Valve fixing screws
6 -M12x60-10.9 (GB/T70.1-2000)
M, =130 Nm Z 7 %
must be ordered separately. 4 ///’J'/ // ///4
For items list, see page 202 Required surface finish of
the mating piece

0.8/

19

Huade América




Unit dimensions: Type 4WEH 32... (Dimensions in mm)

‘-»H - ?926?4 13 F_ _ﬁ® ®\2_
(LIS 5 B =
C—wTEE— o :
TP b o—F—
_ - 5

(| T_i \ T/ \ - | _ "
L TmLEA!r & i
Ay %62 240 : S

® —— \

&

@/ Dimension of ports” connective face is
B 391 @ same as style:WEH32...50/

B 201 _ ®~\

e 433

fl ) |

OF & e +> + -+

g = [ T +14F Ly
e I D R E S S
of Wl - S A B
R 1=t lJ L A 3 [/ BB o I QL R:
¢ 1145 O=¢ | L
T @in — ' SR
39—
Subplates
G 157/01 (G 1 1/27),
G 157/02 (M48 x 2),
G 158/10 (flange) —r———
- £710.01/100mm

Valve fixing screws
6 - M20 x 80-10.9 (GB/T70.1-2000) U\V
M, = 430 Nm 7 7 /'./
must be ordered separately. 4 / 7 // / /%
For items list, see page 202 Required surface finish of

the mating piece

Huade América 20




List of items.

1 Main valve

9 Machined valve mounting surface, position of ports
2  Pilot valve type 4WE 6 ...

10 Nameplate for the pilot valve
2.1 - Pilot valve type 4WE 6 D(1 solenoid) for main

valves with spools C, D, K, Z 11 Nameplate for the entire valve
spools HC, HD, HK, HZ
- Pilot valve type 4WE 6 J...(1 solenoid "a") for 12 O-rings
main valves with spools EA, FA, etc., spring
return 13 Space required to remove the plug-in connector
- Pilot valve type 4WE 6 M...(1 solenoid "a") for
main valves with spools HEA, HFA, etc., 14 2-position valves with spring offset in the main
hydraulic spool return valve (C, D, K, 2)
2.2 - Pilot valve type 4WE 6 Y...(1 solenoid) for main 15 2-position valves with spring offset in the main
valves with spool Y spool HY valve (Y)
- Pilot valve type 4WE 6 J...(1 solenoid "b") for
main valves with spools EB, FB, etc.,spring 16 3-position valves, spring-centred;
return 2-position valves with hydraulic offset in the main
- Pilot valve type 4WE 6 M...(1 solenoid "b") for valve
main valves with spools HEB, HFB, etc.,
hydraulic spool return 17 3-position valves, pressure-centred

2.3 - Pilot valve type 4WE 6 J...(2 solenoids) for main 18 Locating pin
valves with 3 positions, spring-centred
- Pilot valve type 4WE 6 M...(2 solenoids) for main

valves with 3 positions, pressure-centred
O-Ring uesd at the bottom of the housing:

3.1 Solenoid "a" (grey plug-in connector) Orderno. | A. B, P T X Y. L
10 12 x 2 10.82 x 1.78
3.2 Solenoid "b" (black plug-in connector) 16 22 % 25 10 x 2
_ _ 25 27 x 3 19 x 3
4  Manual override "N", optional
32 42 x 2 12 x 2

- The manual override can only be operated up to
a tank pressure of up to approx. 5SMPa.

Take care not to damage the manual override
bore!

5 Solenoid without manual override

6 Height of the connector plate for hydraulic opera-
tion (type 4WH...)

7  Shifting time adjustment (A/F 6), optional

8 Pressure reducing valve, optional

Huade América 21




| 200 | 476
| = | o4 136 290
Type WEH16 . . Type WEH32 . e
LE I s —— .
' ) b
B P4 NN
A - go| A — et ) B S
Pressure centered 2 position valve Pressure centered 2 position valve
Spring centered 3 position valve L Spring centered 3 position valve
Stroke limiter on main Stroke limiter on valve side A Stroke limiter on main Stroke limiter on valve side A
valve sides A and B Stroke limiter on valve side B valve sides A and B Stroke limiter on valve side B
£/90 419
- 130 _ s 264 T
Yy J_'_':j 1 — .
i ! { ik
11 | : -‘. i
i  inw S
= — T A
| [EY E |
—_—
'5' ] T 2 position valve _--_-__B _-_T_ — T E
|| 2 position valve
(Spool©. D. K. 2) lj (Spool C. D, K. 2)
. R , -
Stroke limiter on valve side A Stroke limiter on valve side A
341 479
f— . 435
HH i ST T
1] & — _E
pasbacaap™ = . dTH T
-!-i---!:rl D I I:_u_ . ST = ﬁ
L S 5 I —1—
: e XA
—
m Z S/
A — < [ Hop A LW =t ]
Pressure centered 3 position Pressure centered 3 position valve
valve 2 position valve (Spool ) 2 position valve (Spool Y)
L YT, = =
Stroke limiter on valve side B Stroke limiter on valve side B
3755 317.5 (Spool Y)
1995
S 1393
v I - 3
Type WEH25 o e el I —— -
H i ek ¥
kil - L+ i Il.: _______ _F:l
| A -E_ | * "ﬁﬁ
A | 2positior|1 valve ) ] E A :_ } Pressure centefed 3 position T B B
Spool C, D, K, Z) L valve 2 position vialve (Spool Y
Stroke limiter on valve side A - . i
Stroke limiter on valve side B
499
1995
o110 pm— [N 2 2.2
5
, B
Stroke limiter on main Stroke limiter on valve side A
valve sides A and B Stroke limiter on valve side B

Huade América




Subplates

&El ) $25/0.5
—*—3&5(—,—4;9 o e G125 — |
L&} efr Lz
‘* !'Ir%' {:;1' MH
= | i B | -—AB &1
Mgzt ey ”}///-,.—1.1 I I

Size Type D1 D2 T Valve fixing screws Tightening torque for screws Weight
G460/01 28 G3/8 13
NG10 Ga60/02 M18 > 1.5 4-M10 x 40-10.9 69Nm 1.7kg
G461/01 G1/2" (GB/T70.1-2000)
34 16
G461/02 M22 x 1.5
|1=].25 40 b 26/0.5
i o ] = , &
o L. gy _—ﬂr_ G1/47/12.5
T .
| Ié} .é;r _/-—ll]EIfExl )
H_TL o Y, 9%
P A RID i
= Rt '“Lr" [T "E{’j_ e -
e e AN ‘_____,—-—).',‘f 46 o
l l LT A
oy HM H01,/0.5
$02/T1
& | 87/ L g
1.1
if &
— 30,7 -
9 4.5
=49, 2=
F=—50.3
Size Type D1 D2 T Valve fixing screws Tightening torque for screws Weight
G412/01 49 G3/4 17
G412/02 M27 x 2
NG25 . 4-M10 x 50-10.9 69Nm 3.3kg
G413/01 G1" (GB/T70.1-2000)
47 20
G413/02 M33 x 2
155 T
[ 138 a5 K]
—*-3:1.5[1:-—3&2—-— 1LY b6 —=110 #95/0.5
i T 614" /125
j b B
i ‘f __,.-'_-'hE 32
I e e H
B 25 |
TEeE 2N #1/6
DA Lk
- Al N 89
'ﬁMq}
e
ot Pl K10 25
627 =
67,5 —=
Size Type D1 D2 T Valve fixing screws Tightening torque for screws Weight
G414/01 56 G1 1/ 205
G414/02 M42 x 2
NG32 - 6-M10 x 60 -10.9 69Nm 5kg
G415/01 G11/2" (GB/T70.1-2000)
61 22.5
G415/02 M48 x 2

1 mating piece of valve 2 Valve fixing screws 3 locating pin 4 Front panel cut-out

Huade América




Subplates

G341/01 (G1/4” ) G341/02 (M14x1.5) Weight = 0.6kg (Dimensions in mm)

1] . 1 . # % Front panel cut-out
] A
VA 7 @@ﬁx&
i Ty B,
SEECRENE I — | D) @ )@}’
I A o PR \\kj/ﬁ:ﬁ\\
o/ \| AANF Ryl
M5 /10 afoum 22 o/ Nawy
g
- Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),
M, = 9 Nm
G342/01 (G3/8” ) G342/02 (M18x1.5) Weight =1.1kg (Dimensions in mm)
105 1]
bl Front panel cut-out ; i
i 3[' 1 .
i b
= : p @:Dj \
Y B'
=] YRy ﬁ}hh P __)@m | gl @9 = |
-1 &” A A SyaleT TS/ \S e
A MR @
X 2 \ews N
[T AT @I/ 1 | LA /13
19
g Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),
M, = 9 Nm
G502/01 (G1/2” ) G502/02 (M22x1.5) Weight =1.9kg (Dimensions in mm)
121 B.5
1 % Front panel cut-out i
3 s
| 9 VARZ N
- : @@T
- P
T4 F A
el ANIEIPN PN He g e / [/ ;’EB .
== &,{j\ .‘l"“fl"' J:_-::qgg \Jﬁ;;f/} 1\&5 =
N R R ®
/ =| \owu P 7
“5 .lllu,;' ][|,3 *, ET i ¢'H |'1 ﬁl.lrI..ll 14

1.8
40,3 Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),

M, =9 Nm

Huade América 24




Subplates

G66/01 G66/02 G67/01 G67/02

(Dimensions in mm)

n

iLE T34
i 48,7 Front panel
/| n i L. n7 cut-out
o104 167 |1L7 kil 161 —_—
R (e
D) ) 7N P BN
N2 Brmmill N L 7T P
: S WARNaN -
JT = - ) =|_
910 Sen E5 = v =
I \ i 3 M E . - B Qf’y/ -_J
A £ = =N AR (=
- - ¥ L I —
r i S
— ] sy
. - i
@ |/ ©r™ O -
N ) ) S | g
Ll 4 01/ T
Type D1 ™ ® D2 Weight Valve fixing screws Tightening torque for screws
G66/01 G3/8” 4-M6 x 50-10.9
12 28 approx.
G66/02 M18x1.5 (GB/T70.1-2000), 15N.m
G67/01 G1/2 14 34 2.3Kg Should be ordered
G67/02 M22x1.5 seperately.
G534/01 G534/02 (Dimensions in mm)
4
it
-"]-:1 Front panel %1
/1 - i,, " cut-out o
ois LT Ti1 u s L1
; \ 1 .
N (AN =2 o AN Jia
[P N7 al S NN
D10 Saax P \ P -
B R -
el L - I
R ! j _/
? ! ) L
| =L/ i » //{/:N\
i
&y | | | >
103 ' Y :
: 1 tightenzing torgue of
screw=15N.m
Type D1 T o D2 Weight Valve fixing screws Tightening torque for screws
G534/01 G3/4 17 42 approx. 4-M6 x 50-10.9 (GB/T70.1-2000), 15N.m
G534/02 M27x2 2.5Kg Should be ordered seperately.

Huade América




Subplates

G535/01 G535/02 G536/01 G536/02

(Dimensions in mm)

N

]
ind Front panel
i LA Y 0/ T cut-out
R Hi E 1 TaER 1M I
o1 167 1.!/_ 7 '\\ 1] ‘I.if /
5 o G R )
e R RE - AN /AN (RS
4010 fmux P ]H - '*-\f/' T B A SAT
[Ei— i & / - / ) I,\‘_ L .
{f} ] [] T = | s /‘_._-H‘\\ 3 oo | H -
: = O iy N 5,
\r;’i&ﬂ%— SE \Hr ) —f .
R NP/ ian\\NP/i/iE
IE W/t [ ey T M
= o )
HIEE i
137
162, 6
Type D1 T1 D2 ¢ D3 Weight Valve fixing screws | Tightening torque for screws
G535/01 G3/4” 16 G1/4” 42 4-M6 x 45-10.9
G535/02 M27x2 M14x1.5 approx. (GB/T70.1-2000) 15N
.m
G536/01 G1” 18 G1/4” 47 3.6Kg Should be ordered
G536/02 M33x2 M14x1.5 seperately.
G172/01 G172/02 (Dimensions in mm)
L]
Front panel
15/ B9 O M3 1D 019 F-iblape cut-out
L\‘_\ _\ Wole ofg/{\ i
ocating/pin
7 NP AR 7 5 AN
] =) — AL G
¥
e [ L Jr /L ﬂ
“EEE T } A ] e 2," ==
FlalEL /| SO AIRE
- f zf\“j 1\‘“*')_ My P by
T alukan 7
1 []153 = -
- 01 M1
1.1 H1
g5, 5
TE6
Ei. 1
1016
i
14
Type D1 D2 Weight Valve fixing screws Tightening torque for screws
G172/01 | G3/4” G1/4” approx. 4-M10 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 62N.m
G172/02 | M27x2 | M14x1.5 2.8kg 2-M6 x 60--10.9 (GB/T70.1-2000),Should be ordered seperately. 12.5N.m

Huade América




Subplates

(Dimensions in mm)

G174/01 G174/02
- Front panel
rodn/¥ \ cut-out
hole of locating pin :: i k] T 0
L ALE L2l Lo Tt E\ fﬂ 1 - Y ,-'r
i — T— = ]
o A\ L@ e D\ AN e
4 a{_ i 9 -c;_ ""{i. - P L
N — ;Lwy AN
L 'ud,f.' g o (\‘% [~ = .f"-L -
e e : - _ _y =
Pl Ll A0 A1 T 07 ey o &
) NUNER ANEF )y PARLY =i
X o &/ N
SEI-D & — @A S
. A adil L 1
1 L 3] 1 o
o w1 Ny
.Ilil 85
e 1]
LN ]
MLk 12
15
1M
Type D1 D2 Weight Valve fixing screws Tightening torque for screws
G174/01 G1” G1/4” approx. 4 -M10 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 62N.m
G174/02 | M33x2 | M14x1.5 5.5kg 2-M6 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 12.5N.m
G174/08 (Dimensions in mm)
- Front panel
b cut-out
: . . 111 Lol ] 3
A savawmw> B 4 [re A1 LT
P T
i e a— "f\@ ] e LR
My — i 4\_1«’ Nt
TG 7 ( i 9 s
Ao T T o el =t - i e i e e Al -
SFER AR A : B RS2 N M s
X lg? s / & NP ) -
- e
7 1648 1§ 1.5 1
L 0| ]
8/ Wi n
u "
1] i
1 i}
LK 1
WL 1
kS
1M
Type Pressure Type Weight Valve fixing screws Tightening torque for screws
G174/08 25MPa 009 271 approx. 4-M10 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 62N.m
40MPa 009 272 5.5kg 2-M6 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 12.5N.m

Huade América




Subplates

G151/01(G17)G151/02(M33x2):G153/01(G1") G153/02(M33x2)

(Dimensions in mm)

- I:;e.:
LML 1044
i.§ .1 6. 518 27 T
el ]
FLR] N
54 :s_nj] @I 21 ;’ o/ . RN
i & A DBy e 0L G AP
./"\‘. d £l ./ 7 v ;'\ £l I
e AR YT o hot RSN i"/ Q./ ’
=/ [\ H
. ) /\( ] : / = IL—__ .._ A - @2\1
. Lo A | / 0 } W\ ATE
= (’%’{r'\f?‘ S D \‘_““/k ~ /:"F“\ P By gl Q;;"/Cb\:\:} /""\“f%‘\ -
= = ]”\}«?'1 o v / Ndlhisa " —
Wy N — P L/ o
- 7 [TTE ] :
&1 - [

L of ¢ 8 only used on G153/01

Size Type Weight Valve fixing screws Tightening torque for screws
G151/01

NG25 G151/02 5kg 6 - M12x60-10.9 105Nm
G153/01 (GB/T70.1-2000),
G153/02

1) Only used on
valves which are
pressure-centred

G154/01(G11/4");G154/02(M42x2):G156/01 G156/02(M48x2)

(Dimensions in mm)

Wi

20
anp
ﬂ S5 gp

Ll

(]

=)

s

i

LY}

]

L only used on valves which are pressure-centred

fan - 7 - ; — !___ by
3 ;( {(, '}'l.ll ‘/ﬂ:' I "",. [/-:R?‘fq\l :/--h:\l \
Fan 1 L — D
— ) S 4 i {\J]’ ‘Q__JI \\_::} (;‘g
- o277 = = | - T =
- Xm A B - ol A X =
2 1Y - - "-'ﬁ Py {l'_ - E@% %%ﬂ @ |‘
RPVA Al ] == : AN
S " E 1 N | . 1”_’ "V\( EEREYRAY
.; PUANLT Y \ e

MBILLET
Lo iy

Size Type Weight D1 D2 Valve fixing screws Tightening torque for screws
G154/01 G11/4” 58

NG25 G154/02 5kg M42x2 6 - M12x60 -10.9 105Nm
G156/01 G11/2" 65 (GB/T70.1-2000)
G156/02 M48x2

20 Valve fixing screws 21 mating piece of valve 22 locating pin 23 Front panel cut-out

Huade América




Subplates

G154/08 flange connection (Dimensions in mm)
L !{.
nes L]
L) 23 L
nA TR ] 13 HIE.§
[ / I i \ iLE
¥ 1% LE]
S22 A T e WL
/g A N
al P
5 {.'ff '.I s F/:i& A EEp [ﬁ““-? .
- o et —l— P27 I R A I
. d, T 14, ) 6T o0 o)
8 = 2™ = ¥ o T =[ =
X LB =2 AR =
- PR e e P \ Bl s/~ =
ERAE WY |\ e
=t | &/ " L aToal o N
ey b L) ] — “& A AL
T % o FEE
“ Y, BMEULT |I L]
P SLART
11
21
ni
f “L” only used on valves which are pressure-centred
I Type |Pressure Valve fixing screws
L&
m flange conneting 009176 | 25MPa 6- M12x60 -10.9 (GB/T70.1-2000),
009177 | 40MPa

20 Valve fixing screws 21 mating piece of valve 22 locating pin 23 Front panel cut-out

G157/01(G1 1/2” );G157/02(M48 X 2) (Dimensions in mm)
o S BRE g on ml:;é
; ; X / o . ﬂ 15 — 21
m_| us /’4 / ;l'l' " FTITEA -
BOfo—+ & AADD) s Bl (O D/ D)
D Gé/ / - N7 N
nl/, F - [m,_gi & I‘\Rr'a_:j_,ﬂ =
o 8 2 /_ | . &t
P % 9 “{:“\ : o[ /{}\ /{j? Py j/ ;
;t A & | <m ay ) B rp\ mk:;//d'\\%_ykf}m/m ;I
OO~ | O XY NS = a
e SEWERT 21 ]
1805 RNCLERT . L]
- w, BULAT LART L) =

“L” only used on valves which are pressure-centred

Type Weight D1 D2 Valve fixing screws Tightening torque for screws
G157/01 18kg G11/2 G3/2 6 - M12x60-10.9 105Nm
G157/02 M48x2 | M18x1.5 (GB/T70.1-2000)

18 locating pin 19 Valve fixing screws 20 mating piece of valve 21Front panel cut-out

Huade América 29




Subplates

G158/10 flange connection (Dimensions in mm)
e mi/ 1L
hole of slocating pin on w &1 .
41 L /- . — - Front panel
%\n—"\lfor ports'ﬁ, B, T for ports X, Y, ) ! " . "’15' T " h u 1] cut-out
| - 1 ™ I
D\ 6/ v D o B /)
A ’ PR AN ¢
L AT &y P
ERIEDR gA GNP
== I_ L‘ ! ™ = L - ——’iﬁ.-{ﬁa\
RRREE 2 H L o e n_ﬂ‘ﬁf\/ﬂ/ﬁ\x N IE
1¥/s RSN - AN N L1715
= TN LN A, WS T DN
e _-Ea_ [ ‘/¢ | |
S AN © EEE kfﬁfﬁﬂtﬁié%\,ﬁ P
n i L3 ni %]
T M i i
B Li%. §
1L LY
1.3 s
DSt §
19§
i
[i
“L” only used on valves which are pressure-centred
Type Pressure Type Weight Valve fixing screws Tightening torque for screws
165MPa 303 901
approx. 6-M20 x 80-10.9 (GB/T70.1-2000),
G158/10 to 25MPa 303 902 580N.m
30.5kg Should be ordered seperately.
to 40MPa 303 903

Huade América




Subplates

For applications outside these parameters, please consult us!

G115/01 (G1/4” ) G115/02 (M14x1.5)

(Dimensions in mm)

189
1.7
11 bt it
A= 5 5| olLs/1 L4
iy 5 - EN] P s
QLU O] et IR )2
EdNNRLMNFANLQ LNR
= B‘C F;:’P{I\i L e e EANNRLMOF{NQx NKRLN, :‘.E.P.T] é}\k//{‘;ﬁ | -
? i i T’E - 0L/ : Front panel -~ Kjﬂf’i?k
_é% fl_il i‘:}-} % cut-out _EB_K/ (-}
1| Mg
1]
il - Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),

M, =9 Nm

G96/01 (G1/4” ) G96/02 (M14x1.5)

(Dimensions in mm)

8.9
1.7

1.3 11 W5/

ﬁ\ Wl S

19

o=
s
3

\,
1
|"‘l| c\
)

D §4H12 B

dVSLMNFANLO' LNR
EdVSLMOFJNQ x NKRLNR

Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),
M, =9 Nm

G647/01 (G1/4” ) G647/02 (M14x1.5)

(Dimensions in mm)

i ] ]
il 1.5 b i
5l f’“‘; | /TE @@T AT\

wlafe ] A T 8 @\_ Ll Iz ./E“\qu -
SRRl e Q) == SN2V

E/ \ /"' F\. \ / \d:llfl Front panel {th |

,‘/ : = Y. cut-out %
CYAU Mo\ o 43 EASQTLUNFANLQ. LNP

151
i
2.5

Huade América

EdSQTLMOFNQ x NKRLNP

Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),
M,=9 Nm

31




ANNOTATIONS :

HUADE AMERICA

CEP : 03162-020 )
RUA HIPODROMO 1445 — MOOCA, SAO PAULO, SP, BRASIL

TEL : (11) 3186-5959
huade@huade.com.br
www.huade.com.br

Huade América


mailto:huade@huade.com.br

